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CHEMICAL SCIENCE

Paper 11
Time Allowed : 1% Hdurs] [Maximum Marks : 100

Note :— This question paper contains fifty (50) questions with multiple choice
answers. Each question carries two (2) marks. Attempt all questions.

1. Which of the following has the greatest mass ?
(A) 200 molecules of water
(B) 100 atoms of Fe

B (C)- 200 molecules of Oy
(D) 200 molecules of CH,

2. If the fertilizers listed below are priced according to their nitrogen contents,

which will be the least expensive per 100 kg bag ?
(A) Urea, (NH,),CO (B) Ammonia, NH,
(C) Ammonium nitrate, NH4N03 (D) Guanidine, HNC(NH2)2

3. In which of the following pairs do the two species resemble each other most

closely in chemical properties ?

(A) ]H and ?H (B) *O and fO*
(C) Mg and ¥ Mg* (D) *N and }*N%
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T fas=
weT-ux 11
wHa ;17 92 (g - 100
Stz : T8 UYA-9 § 50 (U=H) dEfamesE WeR € | Vs ueR & 2 (2 Fw E o Wl
S & I AR | '

1. frefafes § | feum s a8 sfvw 2
(A) W@ ® 200 9]
(B) Fe &= 100 T39I

v (C) Oy & 200 317 =
(D) CHy % 200 377

2. WA H TR g § W ged IS AeeeE siw % wger fay o ¥ = R
e o 100 e &3 & fau 999 &9 o9 9@ 2w 7

(A) Ff, (NHy),CO (B) @mifn, NHy
(C) afam =gz, NH,NO, (D) TEfEE, HNC(NH,),

3, fyofatas gl § @ FEE 9 sifedl A9 T@EEE T F YR WOUE g A
&R gE TEEa T €2

(A) !H @R {H (B) ¥o 3w fo*
(© Mg 3R EMg* (D) MN 3R INT

T.B.C. : 24/14/ET—II . 3 P.T.O.



4. Which of the following molecules or ions is not linear 7

(A) BeCly (B) ICl;
(C) CS, (D) ICIl;
5. A substance in which large energ.y gap separates the valence and conduction
band is a :
(A) Metal (B) Metalloid.
(< Semi-conduct?r g (D) Insulator

6. The hybridisation of atomic orbitals of N in NO;, NO; and NH] are

respectivoly :
(A) sp, sp2 and 3p3 (B) sp, sp3 and sp2
(C) spz, sp and sp° (D) spz. p? and sp
7. The strength of bonds by overlapping of atomic orbitals is in the
order :
(A) s—-s>s—-—p>p—Pp (B s—s<p-p<s-—p
(C) s—-p<s—-—s<p-Pp D) p—-p<s—s<s—p

T.B.C. : 2414/ET—II 4



Freifafaa § | S99 3 F@e g 8 T 2
(A) BeCly (B) ICI;
(C) CS, (D) ICI;

v forgd wm S o gAeeal ol Hawd o F g Fa ¥, 9% B

T 2
(A) g ®) T
(C) ZNZg=TETs ) (D) ot

NO;, NO; #T NH; H N & TH0] Hal ol GHI HEw: ¥ Owm ?
(A) sp, sp® 3R sp° (B) sp, sp® 3R sp?

(C) sp2, sp 3 sp? (D) sp2, sp® 3R sp
mmﬁ%mwmwaﬂ'mmmﬁm ?

(A) s—s>8s—p>p-—p (B) s—s<p-p<s8-—-p

(C) s—p<s—s<p-—-p D) p-p<s—-—s<s-—p

T.B.C. : 24/14/ET—11 b P.T.O.



8. Which of the following is not stable ?
(A) Hj (B) Hy
(C) He, (D) HHe
9.  Compound X is highly volatile and insoluble in HyO. Bonding in X is :
(A) Ionic (B) Covalent
(C) Polar covalent (D) Coordinate

. 10. The compound NH3—BF; can be easily separated into its compound

because :

(A) BFj is highly reactive

(B) NH, is highly reactive

(C) BF3 and NHj are unstable

(D) BFg and NH; have their independent existence
11. The hybrid orbital of the central atom in AlF,  1is :

(A) sp (B) sp?

(C) sp? (D) dsp?

T.B.C. : 24/14/ET—II 6



8.  fy=tatma # & #@w w@rd 98 T 2
(A) H; (B) Hy
(C) Hey (D) HHe
9. mxmmﬁaaﬁnﬂzaﬁwpxﬁm%ﬁ%?
(A) Imaf® (B) weEdrEs
(C) yd™ TeEdoH (D) HHEEA
10, e NH,—BF, % smarf & wb A § sem fewm W wwa ¥ i
(A) BF, sr=fuys franie €
(B) NH, sifus fwanie &
(C) BF, 3t NH; #fter ¥
(D) BF, 3R NHy ®1 0 @aH sifad &
11. m‘-ﬁwm%a‘w{ma%:
(A) sp (B) sp?

(C) sp* (D) dsp?

T.B.C. : 24N14ET—I1 7 PO



12.

13.

14.

15.

Which of the following has maximum bond energy ?
(A) 0O, (B) O;

(C) 0Oy (D) 03
(_):ddation number of Cr is + 5 in‘:

(A) K3CrOg

(B) (NHg)3CrOy

(C) KyCrOy . g

(D) [Cr(NHg)s (Hy0)] Clg

The type of radiation that has the greatest penetrating power through matter

is @

(A) « (B) vy

(C) p~ (D) Visible light
Which one of the following is not an s-block element ?
(A) [Ar] 4s% 3d10 4p® 5s! (B) 1s? 2s2 2p!

(€) 1s2 21 2p! (D) [Ar] 4s' 4p’



12. Trefafes 4 4 fegs a8 afas =9 3= & 2
(A 0; (B) O;
(C) 0O, D) 0
13. ﬁ‘TGﬁCraﬁmmm+5‘t ?
(A) K,CrOg
(B) (NHg)3CrO,
(C) K,CrO,
(D) [Cr(NHg)s (Hy,0)] Clg
14. =% fou vwr =1 fafem ¥ fauwt wd § 9 9 31 =909 a99 590 §
(A) « (B) ¥
©) B (D) F¥9 &
15. Frafafas § 4 39 s-awve o @ ¥ 2
(A) [Ar] 452 3d*° 4pS 5s! (B) 1s% 2s% 2p!
T 1s? 25! 2p? (D) [Ar] 4s! 4p!

TB.C. : 24/14/ET—II 9 P.T.O.



16. Which one of the following cannot be used to generate Hy ?
(A) Al + NaOH ~ (B) Zn + NaOH
(C) Mg + NaOH (D) LiH + HyO

17. Correct st.atement' about Molisch's test is :

(A) o-Naphthol + EtOH + H,SO, (Few drops), used for the detection of

carbohydrates

(B) B-Naphthol + EtOH + H,SO, (Few drops) used for the detection of

carbohydrates

(C) o-Naphthol + DMF used for the detection of carbohydrates

(D) «-Naphthol + EtOH + HySO, (few drops) used for the detection of amino
acids

18. The correct order of basicity of the following anion is :

(A) CH,CO0 < CH,0 <OH

(B) CH,CO00™ <OH <CH,0

(C) CH,0 <CH,C00™ <OH

(D) OH < CH,CO0 < CH,0

T.B.C. : 24/14/ET—II 10



16. Frofafas & & 29 ™ H, 39=d  fau sgea =8 f&ar =0 5% ?
(A) Al + NaOH (B) Zn + NaOH
(C) Mg + NaOH (D) LiH + H,0

17. Hffersr g@gm = o # FHa 999 "6 § :

(A) omgE + BtOH + H,S04 (F2 98) 1 ITAN HEEESS & TA T B
foq femr o &

(B) B-Tuars + EtOH + H,S0, (F2 ) = FEwEse & W o & o
v fm ww ¥

(C) «SgarE + DMF =1 w@EEsz &1 wa o $ fan gge e s ¥

D) o-muE + EtOH + H,80, (%2 &) +1 T anell =1 w0 7 % &9
v e o ¥

18. Frefafas ¥rgs § andma & 9F %9 7 ¥ ?
(A) CH,CO0 <CH,0O <OH
(B) CH,COO < OH < CH,0
(C) CH,0O < CH,COO <OH

(D) OH < CH,CO0 < CH,0O

T.B.C. : 2414/ET—I1 11 P.T.O.



19. The correct order of reactivity towards electrophilic aromatic substitution

is

(A) Furan > Thiophene > Pyrrole > Benzene

(B) Pyrrole > Thiophene > Furan > Benzene

{(C) Furan > Pyrrole > Thiophene > Benzene
~ (D) Pyrrole > Furan > Thiophene > Benzene

20. Which of the following reagents should be used to convert hex-3-yne to

2-hex-3-ene ?
(A) Hy|Pt
(B) Na|NH,4
(C) Hy|Lindlar's catalyst
(D) HgS04|H,0
21. Increased concentration of O ion leads to :
(A). Increased rate of Sy! and Sp? reaction
(B) Increased rate of Sy! and no affect on Sy?
- (C) Increased rate of Sy? and no affect on Syt
(D) Increased rate of Sy and decreased rate of SN.2

T.B.C. : 2414/ET—I1 12



19. fomafim gafus sfeeaes =t on franfioa =1 &8 &9 ¥ .
(A) wEE > e > e > 3=
(B) wWrtE > foErd > R > I
(©) FRE > T > o > 3=
(D) wEdE > TRA > BEEE > a=ie

20. Tr=fafas § & #i5 3ifYsd® hex-3-yne 1 2-hex-3-ene # ufiafia &7 & fag
wgE B % 2

(A) Hy|Pt
(B) Na|NH,
(C) H,|fE=er o=
(D) HgS04|H,0

21. OH ¥EA Wi dgdl g€ WEa ¥ w9 o ¥ 2
(A) Sp! iR 82 afufan =t =gdl & =T
(B) Sy! 1 =gt =X 3R Sy W N wwE
(C) Sy° # @gdt T 3R Sy! W =i wyE =&
(D) Syt 1 wEh | R S ? F ol W

T.B.C. : 24/14/ET—II 13 P.T.O.



22. Which of the following alkenes have the largest lm;u <

23. The correct statement about the following compounds is :

- >~

2@ O A4

@) (iz) (e5e) (i)
(A) (i) and (i) dissolve in aq. NaOH and give FeCl, test
(B) Only compound (i) dissolves in aq. NaOH and gives FeCl, test
(C) (), (i) and (iif) dissolve in aq. NaOH and give FeCl, test

(D) Only compound (i) dissolves in aq. NaOH and gives FeCly test

T.B.C. : 24/14/ET—II 14



22, frefafaa 3 8 f&9 wooa &1 stfusmas o, 7 2

Me H H H
(A) \_/ (B) N—

Me H H H

Me Me H Me
(C) N P 4 (D) . /

Me Me Me H

. 23, frafafaa Afme & av § @ft $97 A9 7 2

Do O A

@ (i) (i) (iv)
(A) (i) 3 (i) =@ NaOH # gerwia ¥ 3 FeCly wiaw 3d 2
(B) =aa A (i) & v NaOH # gaawia & it FeCly wdiam 2am
(©) (D), (i) R (i) Feitd NaOH # gomeia & 3R FeCly witam 3a €

(D) Haa A (i) St NaOH 3 gomeia ¥ iR FeCl; wiigm 2a
T.B.C. : 24/14/ET—II S P.T.O.



24. Number of non-equivalent protons in the following compound is :

(A) 5 (B) 6
) 9 (D) 4
25.. Left-handed DNA is ;
(A) A-DNA (B) B-DNA

(C) Z-DNA (D) C-DNA

26. The correct order of IR stretching frequency of carboxyl group in ketene,

cyclopropanone, cyclobutanone and cyclopentanone is :

(A) Ketene > Cyclopropanone > Cyclobutanone > Cyclopentanone
(B) Cyclopropanone > Cyclobutanone > Cyclopentanone > Ketene
(C) Cyclopentanone > Cyclobutanone > Cyclopropanone > Ketene

(D) Ketene > Cyclopentanone > Cyclobutanone > Cyclopropanone

T.B.C. : 24/14/ET—I1I 16



04 Tycitefma difre # Fraoddss @@E wt G fEad ¥ 2

(A) 5 (B) 6

(C) 9 (D) 4

25 =™ T=$a DNA ¥ :

(A) A-DNA (B) B-DNA

(C) Z-DNA (D) C-DNA

26. mmﬁm,m,mmmaﬂmm
smafa =1 @@ w9 ¥ ¥ ?

(A) FEA > FeEEEEEr > SEEaaeedr > WEEae
(B) HIEFETEEAT > UEGISgAN > WEAEEEE > HIEH
(C) CrEEEH=E > WEAegEAr > HEEERa > e

(D) FEE > TEEEEE > SRR > FEEenaaA

T.B.C. : 2414/ET—I1 17 P.T.O.



27.

28.

T.B.C. :

Which of the following compounds is aromatic ?
(£) (£13) C

(i) (iv)

(A @) (B) @G
(C) ) (DY (w)

IUPAC name of the following compound is :

HiINnOMe

(A) (3R)—isopropyl—(2S)—methoxy—tetrahedrofuran
(B) (3S)—isopropyl—(2R}—methoxy—tetrahedrofuran
(C) (BR)—isopropyl—{(2R)—methoxy—tetrahedrofuran

(D) (3S)—isopropyl—(2S}——met.hoxybtet,rahedi'ofuran

2414/ET—II 18



27. frefafms § ¥ w=m Ot s § 02

2 Ce (if) c

(dii) (iv)
(A) @) (B) (id)
(C) (@) » (D) Gv)

28. fFrafafaa 9 =1 sEadiedE. (JUPAC) 9 =1 8 2

HITITOMe

(A) (3R)—aTzEMMEa—(2S)—Marfsi 2o
(B) (38)—NsaiEs—(2R)—Hadl—2gesrray
(C) (3R)—IEaMIEa—(2R)—Muisft—2zesreegn=

(D) (3S)—HAEANUEAa—(2S)—mud—2ZRs g

T.B.C. : 24/14/ET—I1 A 19



29.  Correct boiling point order of the following compounds is :

(@)

(z21)

(A)

(C)

30. The

(A)

(B)

(C)

(D)

CH,OH (i) CH,SH

EtOEt (iv) EtSEt

o) > (i) > i) > GD) (B) (i) > Gi) > (D) > (iv)
(iv) > (id) > (D) > (i) (D) (i) > (i) > @) > Gid)

correct statement about the following compounds is :

-

(i) (i)
(ii) is more basic than (i) and (i) behaves as a ketone and (ii) as

amide

(i) is more basic than (ii) and (i) behaves as a ketone and compound

(i) behaves as an amide

(i) is more basic than (i) and both behave as an amide

(ii) is more basic than (i) and both behave as an amide

T.B.C. : 24N4/ET—II 20



09. fyefates dftsi & FagAiwi @ WEH OwH T 7

(t) CH3O0H (1) CH45SH

(1iz) EtOEt (v) EtSEt

(A) () > @) > @) > () ‘ (B) (i) > (@) > (i) > ()
(C) () > @g) > (@) > () (D) Gv) > (i) > @) > @)

30. faeifataa Hf @ an § @& $99 #= T ?

(i)
(A) (D), () & erFa wfas aifig ¥ R () FEA 59 T (i) THES 99 EeER

w2

(B) (i),(u)ammmmtaﬂt(i)ﬁzﬁaﬂaﬁz(mmﬁm
Fa B |

(C) (i),(ﬁ)%mﬁmmm%mﬁmﬁmm%

(D) (ii),(i)ﬂmmmmtmﬁmﬁmmﬁ

T.B.C. : 2414/ET—II 21 P20



31. Major product in the following conversion is :

OMe
= e
CN/A CN/hv
B —_—
NO,
. ’ Me OMe
OMe OMNle N
N
A= B=
(A) A= B = (B) &
CN
. NO, NO,
NO, NO,
OMe OMe OMe OMe
A= B= A= B=
Noz NOQ No? N()!

T.B.C. : 24/14/ET—II 22



31. fFrefafas ofads 4 g 3= +=n 8m ?

OMe
D)
CN/a CN/hv
Be— —_— A
3 & OMe OMe
OMe OMe N
A = B =
CN
NO, NO,
NO, NO,
OMe Me " OMe OMe
NC N NC N
A= B= A= B=
NO, NO, NO, NO,

T.B.C. : 24/14/ET—II 23 P.T.O.



32. The correct reagents used in the following conversion is :

OH OMe
OH OMe

i

(A) (1) NaOH/Me,SO,4 (2) Cl—C—CH,CH,, AICL/H.0, (3) NH,NH,/OH, A
(B) (1) NaOH/Me, SO, (2) Cl—CH,—CH,—CHj, ZnBry/H*

(C) (1) NaOH/MeOH (2) C1—CO—CH,CHg, AICLy/H} O, (3) NHo,;NH./OH, A
(D) (1) NaOH/Me SO, (2) Cl—COCH,CH,, AlClsl-H,;O (3) NaBHy H* . A

33. Which of the following is a general characteristic of those natural products

classified as lipids ?

(A) They are generally soluble in water and insoluble in organic solvents
(B) They are generally insoluble in water and soluble in organic solvents
(C) They have common structural feature of two or more fused carbon rings

(D) They generally have high weight proportion of oxygen (> 40%)

T.B.C. : 2414/ET—II . 24



30 Fefefag feds § S8 wE satveds T €

ONMle

-

ONMe

(A) (1) NaOH/Me,SO, (2) Cl—C—CH.CH,, AICI/H,0. (3) NH,NHy/OH, &

(B) (1) NaOH/Me,S0,-(2) Cl—CH,—CH,—CHj, ZnBry/H"
(©) (1) NaOH/MeOH (2) Cl—CO—CH,CHg, AlCly/H3 O, (3) NH,;NHo/OH, A
(D) (1) NaOH/Me,SO, (2) Cl—COCH,CHj, AICIy/H;0 (3) NaBH/H" . A

33. m%mmﬂ%mwﬁmﬁmmamﬁqﬁ#@aﬁﬁm
' 2

(A) A T W § ogemsie § s s e # e €

(B) & WEE: 9@ ¥ o A8 § iR wei faeawl § geedie ¥
(©) T A | AuE TEfga FET Aed A GHAHE HoEAeE Sem #
(D) TErEE: S0 St 1 IeR uH M (> 40%) B ¥

T.B.C. : 24114/ET—II 25 P10,



34. Third generation computers :
(A) Were the first to use built in error detecting device
(B) Use transistors instead of vacuum tubes
(C) Were the first to use neutral networks
(D) None of the above
35. Which of the following is not a hardware ?
(A) Magnetic tape (B) Printer
(C) VDU terfninal s (D) Assembler
36. A bootstrap is :
(A) A memory device
(B) A device to support the computer
(C) A small initialization to start up the computer
(D) An error correction technique

37. Which of the following is the characteristic of first generation of digital

computers 7
(A) Vacuum tubes (B) Transistors

(C) Semi-conductors (D) Chips

T.B.C. : 24N4/ET—II 26



34. dga € B v w9 2
&) s sl A W o A g W e e S e
(B) =i fraia Afes &t awng of=rt wgFa =@
(@) == Twme (FEEd) vEE. S 9 9 TEd 4
D) =ydsm d F = =&
35. TrofafEa 8§ @ =@ 993 (3T0) wEaW ™ ¢ ?
(A) FEEE 2N . B) TH
(C) ==y fau - (D LA AN
36. 2 W (F==2T) FME ?
(A) % T 7w
(B) @M & wer & fou uw g
(C) W WO S ® U U oy wEds
) = F FF FTI B OUH AEAE
37. wom 9l & g WU % frefatas 3§ R a9 2
(A) Trata afam (B) =X

(C) IATTEH - ) fag

T.B.C. : 24/14/ET—II 27 ’ P.T.O.



38. Which part interprets program instructions and initiate control

operations ?
(A) Input (B) Storage unit
(C) Logic unit (D) Control unit

39. Which one of the following sp.ecies is capable of functioning bo.th as a Bronsted
acid and Bronsted base ?

(A) CO%F (B) F~
(C) HS™ () 8%

40. Why are variance and standard deviation the most popular measures of

variability ?

(A) They are the most stable and are foundations for more advanced sta-
tistical analysis

(B) They are the most simple to calculate with large data sets

(C) They provide nominally scaled data

(D) None of the above

&), CEssiinaee is the set of procedures used to explain or predict the values of a

dependent variable based on the values of one or more independent

variables.
(A) Regression analysis (B) Regression coefficient
(C) Regression equation (D) Regression line

T.B.C. : 24114/ET—II 28



38. ﬁwmmmﬁmmtmmmﬁm‘m

39,

41.

T ?
(A) @ ' (B) wsnu 3fe
(C) @& FfHe ‘ (D) = gfe

mﬁmm.MWmﬁWwﬁﬁﬁwwﬁm
Tada § 2

(A) CO% A3, (B) F~

(C) HS~ : (D) s*
mmmm.mm%mmmm&aaﬁt?
(A) 3 wad e # o sfus anm witere faveem @ §E IR §
(B) & w2 st wiE wiga wRwew & fou @y =@ ¥

(C) & $9 Wy fFs WA F+a §

(D) IR # § wE T

""""""""""" fea-fafidl # ©® 99 9w @ wfus @ el % A W
s Fuk ol @ WA w9 mmen @ wfas wed @ fag wE e R

(A) uyanya favesm (B) YYETHA U

(C) 9TaHA HHIEH (D) 9y=THA &

T.B.C. : 24/14/ET—II 29 P.T.O.



42.

43.

44.

As a general rule, the ............. is the best measure of central tendency because

it is more precise.

(A) Mean (B) Median
(C) Mode (D) Range
The term precision refers to :

(A) Highly accurate data

(B) Measurements that are within 1 mm

(C) Logical accuracy

(D) The level of measurement and exactness of description in GIS

database )
Which of the following statements is not true ?
(A) A precise measurement may be inaccurate
(B) An accurate measurement may be imprecise

(C) Accuracy applies only to attribute data whereas precision applies to both
attribute and geographic data

(D) High accuracy and high precision are both expensive to acquire

The electromagnetic radiation that has a wavelength of 1 mm is categorized

as :
(A) UV (B) X-ray
(C) Gamma ray (D) Microwave

T.B.C. : 2414/ET—II 30



42. m fEm & Fwg o g wgfet W wEd s wwe ¥ wits gw afus
ufiye 2

(A) A (B) wfezrh

(C) wEE+ (D) =™
43. g Ui (fiwdsm) R S=<fifla =@ % 2

(A) == faye aiss

(B) W9 Sl 1 mm & 3| &

(C) awgma fagea

(D) w99 1 W1 3R Stemd.um. d@wfas siws d aofs # aadas
44. fr=fafea § 4 39 =99 99 96 8 2

(A) T9@ed W9 SIS B §ed

(B) fag wrA zoddm & mwa ¥

(C) Tasrzm (vagist) S== atwsi & i = fou wgEa 26 & Smis wfgea
(fusiters) 7ot iy ofritfers sifssl 991 & foo wgsm o %

(D) === fagma Ar =2 i 26 #Y R o wm ¥
45, A% dga-wrwy fafero frgsl gl 1 mm =1 &, 9% 5w 9o § & 2
(A) FH (B) -z

(C) 7 f&m (D) H&a 7
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47.

49.

Which one of the following spectroscopic techniques will be useful to distin-
guish between M-SCN and M-NCS binding modes ?

(A) NMR (B) IR

(C) EPR (D) Mass
Which of the following exhibit.s‘rotational spectra ?
(A) Hg , : (B) Ng

(C) CO (D) CO4y

How many vibrational degrees of freedom are present in a molecule of

water ? 3
(A 1 (B) 2
(C) 3 D) 4

The moment of inertia for HCl gas can be determined from its microwave

spectrum. Which property of the HCl molecule may be obtained from the

moment of inertia ?

(A) The vibrational frequency (B) The force constant
(C) The bond strength (D) The bond length
Typical data transfer rate in LAN are the order of :

(A) Bits per second (B) Kilobits per second

(C) Megabits per second (D) None of these

T.B.C. : 24/14/ET—11 32



46, « Frefafas ¥ @ S SegaeE aFHE M-SCN 3R M-NCS F4sH 3adl & =54
e w1 & fog TTEni & 7

(A) TATRAR (B) 3.3
(C) Et.am. (D) ws
47. mﬁﬁmw@%ﬂmg ?
(A) H, (B} N,
() Cco (D) CO,
48. W= ® v § woem # fewd et ww sefEm €7
(A) 1 3 (B) 2

cC) 3 (D) 4

49. HCl 5 % fou sifeaa $ ao gey win @Eea 9 fFuife 53 sn g%a § 72 HOl
o W Fre O AEEm B oam / yra e osnowmwm ¥ 2

(A) A I (B) == fays
(C) =49 v D) =9 =
50. LAN (87) ¥ wefus sfez s I P9 &9 § 2
(A) faz sfa I=v= (B) Tweir=az ufa A%vs

(C) wmfaz wfa O%vs (D) =98 | T3 TE

T.B.C. : 2414/ET—I1 33 P.T.O.



